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® 0.9ha=[ |m? @ 600m2 =[ Ja
® 1.7t =] kg @ 80000kg =[ |t
® 60ha=| |a
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-5000g = Dkg
-4t =Qkg

- 900kg = @t
14t =DBg
-0.12¢ = @kg
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@ 6t = 6000000 g @ 500kg = 04t
@ 120000g = 1200kg @ 0.03kg =30g

® 7000g = Tkg
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@ 330a=3.3ha
® 540000 m? = 54 ha

B 1.7km?2 = 17000 a,

@ 20ha = 0.2km?

@ 6.1ha = 6100m?



10. o F Wolo wele wE

® 2km?2 = 20000a
® 40km? = 400 ha

3 70000m2 = 7 ha

HHE A2 o= AU

@ 6ha = 60000 m?

@ 500ha = 5km?
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@D 6900a, 69m?
® 850ha, 8.5a

® 4a, 40m?

@ 5km?, 500000 m?

@ 780000m?2, 78ha
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@D 3.6ha = 360 m? @ 46a = 46000 m?
® 240a = 0.024 km?2 @ 300m? =0.03a

3 8km2 = 8000000 a,



13. o= & vt dEd 22 o= Ady7?

® 13ha =130a ® 1.8km? = 180004
@ 5.6km? = 5600 ha @ 92000a = 92ha

3 8.5km2 = 850000 m2



O 4m = 400cm

® 12m?2 = 12000 cm?

® 630000 cm? — 63 m2

@ 70000 cm? — 7m?

@ 480000 cm? — 48 m?
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@ 350m? = 35a @ 5.6km? = 5600 m?
® 3700a = 3.7ha @ 17t = 1700 kg

® 23000000g = 23t
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@® 0.04km? @ 0.4ha ® 400a

@ 400000 m?2 ® 4ha
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@ 0.02km? @ 0.2ha ® 2000a

@ 20000 m? ® 2ha
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@® 100m? @ 10000a ® 0.1km?

@ 1ha ® 10m x 100m
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@ 0.3km? @ 0.3ha ® 300a

@ 3000m?2 ® 3ha



@D 0.75km?
® 80000a

3 100m x 3000 cm

@ 100m x 4000 cm

@ 25ha
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® 4m? @ 40 cm? @ 40m?

@ 4000 cm? ® 40000 cm?



@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 Bio]T},

® 380kg + 4200 g = 380.42kg
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@ 3kg=3000g
® 5.5t = 55000000 g

® 120t = 120000 kg

@ 4t = 4000000 g

@ 6t =6000kg



9kg - Dg

300g > @kg

58t =Qkg=®@g
4600g = 4.6kg = Ot

@® 90000 @ 0.03 ® 58000

@ 58000000 ® 0.0046
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D 8000g — 8kg

@ 0.4t =400kg
® 1300kg = 1.3t

@ 0.17¢
® 5630000 ¢ = 5630 ke



@ 240a =2.4ha @ 0.12km? = 1200 a
@ 97.2ha = 972000 m?2 @ 3140a = 3.14ha

3 3500000m2 = 3.5 km?
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@ 4a = 400m?
® 6km? = 6000000 m?

(3 780000 m2 = 78 ha,

@ 2000a = 20ha

@ 3500000a = 35km?
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@ km?, a
® ha, a

@ m?, cm?

@ ha, m?
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( )qtoll dur2 @& A= 13 A2 oL ZARIA] 2L
3700000( ) = 370( )= 3.7 km?

® m?, cm? @ m? a ® m? ha

@ ha, m? ® a, ha
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@ 480000 m? @ 4.8km?

® 4800a @ 48ha

(3 4800000000 cm?2
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© 12ha @ 1200000 m?

3 1200000000 cm?
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® 220ha @ 2200000 m?
@ 0.22 km? @ 220000 a

3 22000000000 cm?
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oldl&= 3.2ha 9] =oflA] & 5.6t & AF45FA, W= 4.5ha
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® ¥4t 0.01kg

@ W4, 1ke ® W, 0.1ke
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